> 102 #£ 4L ¢ R L D33t

=

1.5% . 2 N =
BHA R 1058 Y

489% % % » H=x 5 A

A

¢
98.5% B

',
\id
h % FE R 3269 0 HAeR i
WP 69 o

IS
QR

ot ALY 6,417 A 0 A
£ 1Y 6,167 = & 98.5%:
$2H WAL 159

AT 3 d% A E L ORBEBEGINRELHEL

OO

o R# 700 B%3sswa A EBsRA PoREesd BFEF I 82

271897
2P R &% Ao HBYREY 2P R &% 2R E& % B HY R A B HY R A
& 99.99% - & 98.89% o I 82.3% & 78.0% - BHET23% et 59.7%

RS LI AR ST PR RN .

T ) (=)

HBHH

492 i®
I 5274 o~ 0 H 942 AL > H P

92 fi &> Ao BB e ) Hiu
H v
N O R ¢

T % ¢ https:/www.stat.gov.tw/ct.asp?xItem=4363 1 &CtNode=6470&mp=4 - 0


https://www.stat.gov.tw/ct.asp?xItem=43631&CtNode=6470&mp=4
https://www.stat.gov.tw/ct.asp?xItem=43631&CtNode=6470&mp=4

